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Ajmal National Talent Search Examination, 2008
Class: VI
Time/JN : 2 hours (F6Y) Full Marks/ ‘-Ib 99 : (25+25+25+25)=100

INSTRUCTIONS / fStisitgait ¢

1. Attempt All Questions.#ATSTHRCH! 2xq Teq H4 |

2. There are four options to each question. Choose the correct option by putting anyagnr® cofor d,
in the box EIfetst et 5If<G! faee Tea fuat wiitr | ww Teach! Ak Slemz Fiwe o<t AF6S a, b, car d fefar)

General Knowledge/ siigiee &is

1. Thefastest runner among these is—
(I @R (@eM18 A A1 2
a) Cheetaliz<gG® b)  OstrichSer ¢)  Horsemi d) CamelSs []

2. Who wrote the bok ‘Wings of Fire’
e (BT (FIC ferfifet 2
a) Maulana Abul Kalam Azaele=T=T SIIgeT ST Semm
b) Dr. Rajendra Prasast Sicsrw 27
c) AP JAbdul Kalama i cet Si=qet ST
d) None of thes@i abie w=7 []

3. Which of the following President of USA was not assassinated?
SR (PN g 2@l a1 (=T 1fRe 2
a) Abraham Lincolferz=s feisa= b)  George Washingtgers: 36
¢) John. F. Kennedy= @& 1% d)  Bill Clinton/Ret &5 []

4.  Which state does Dr. Monmohan Singh, the present Prime Minister, represent in the Rajya Sabha?
T LI Tg IFEIRA 1@ ASTTSIS (F AT #iF1 eAfsiKe I 2
a) Panjalrigs b) Assanferiv c)  Uttar Pradesi¥es et
d) Delhif@ ]

5.  “Stapler” a simple machine is used for—
‘Stapler’ @2 = Jg« i e T2 27 2

a) Pinup the papefasrens o =i b)  Stab some orfeRI b frzl

c) Chop upsifbeEsr d)  Binding paperssisfer 1z <l []
6. Complete the title of the film, the“Tare par”.

A [ [ o oI NG oo T

a) AssmayerzE b) Zameersi c) GagaypisR d) Sky=z |:|

7.  *YaAliRaham Ali" the song was sung by
“ER1-NIfeT- <= et S CRPIE oiigfeet 2
a) Shaarg b)  Zubin Garggi oo
c) Zubin Mehtdsam el d)  Sonu NigantFsm []

8. “PoaMecca & Haygrib Madhav Mandir” is situated at—
CoTRT B < RIA WK WU 0 SR-IHS ?
a) Hojai@eizs b) Hajozwsre c)  Hamrer&mee d) Haldigzsimre []

1 Contd.
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9. Xissaying Y is not my fathar, while Y is saying X is my child. But | am not the father and X is not son. What is
relation between them?
X @tz Y (T (rel 7=, Y @ (g X (WS T | 5% W2 (8ol =7 S X @ (WIS 9[@ =7 | (OSES N6 391 {52

a) Nephew & Auntyy<i-efeet b)  Mother & daughteri=s-&izze

c) Teacher & studefitr<-2@ d)  None of thes@aiw «blis =3 |:|
10. WHO stand for—

WHO ¥iti—

a) World Hockey Organisatigig =& >ieiar b)  World Health OrganisatigRes = >zeior

c) World Home Organisatigis #fa=isisior d)  World Human OrganisatigR s si2sioa |:|

11. “Namdhapa” National Park is located in
T TER T © 2
a) Assansrivs b)  Sikkim/fiere
c) MeghalayasarErre d)  Arunachal Pradegh<eiseioe=re |:|

12. You are travelling by car and the traffic focuses red light, it means—
Of SIS < Sl o< CTRACT <81 #1186 SreTarz | 29 oY 2o
a) Stop the camrS Tca= b)  Move fast=siE @l
c) Go backe=e @il d)  You also focus lighfns =125 ez fwa |:|

13. King, Queen, Bishop, Knight are used in—
Tpe, P&, g1, =126 W 6 (¥eTo <= 91 =7 2

a) SquaslmRPT b) Chessmi(res&) ¢) \olleybalfefer d) Base balt<s<e []
14. Whatis the scientific name of ‘Common Salt'?

AL T @EEEIE N 2

a)  Sodiunsiery b)  Sodium Chlorid&siEa rixizs

c) Sodium Carbonatef&s FKEs d)  None of thes@i® «bls 723 |:|

15. Which fruit has the same name as its colour?
(IR 2FeTq 99 SI<E N QIR ?

a) Green pe@TS&RI W67 b)  Orangéssen

c) Red chillizel ser d)  White Berryzsiaa []
16. Whatinstrumentis used for measuring rainfall?

IR (I TR I < 2

a) Lactometet=i@l o b)  Rain gaugesasist

c) Rain meterwz 6" d) Rainograph<mare |:|

17. Afourlane highway construction is going through Assam from Guijrat. What is the official name of it?
GGG 2= AT BRI NRPTGFT FI bfeT W | Z19 51 W <5 2
a) Super highwafpi< 22" b) East-West Corridg#-sxe wq
c) West-East Corridpe®a 38 sRes d)  Assam Corridomrm sRes []

18.  Which of the following lives longer?
I, G A< A (@R T Sig «iee-

a) House fly=nar b)  Butter flysif=i
c) Dragon flyS& d)  None of thes@iw @ble 723 |:|

2 Contd.
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19. “Eleven Plus two” can be re-arranged as—
Eleven Plus tweye< &t T
a) Twelve plus onBx=s 2w S~ b)  Ten plus threl= 2z f
c) Nine plus foukrsT gz '3 d) Plus on&iz eI

20. The second lady of Indian origin to go to space was—
WRISMICT (IR 27 SIS SRS Yo WiZefl 2eT—

a) Juhi Chawlg s b)  Sunita Williamgfe S2fmisg

c) Gopi Chawl#si=i sheeT d) Binita Rag<are are

21. Whois known as “King of Bihu Geet"?
g Srex <&t gfet i (el =7 2
a) Archana Mahantab ¥=% b)  Zubin Gargg< sief
c) Khagen Mahantae= w23 d) Keshab Mahanta™< w23

22. Ifyou are going to the land of Rising Sun, you are going to—
ofsr =i AR (PRITeT ol Rl (o 9fY O ol —

a) Australigegerist b)  JaparersitT c) Singaporé&sieRti d)  Chingbintet

23. Who was the only Speaker in the Lok Sabha from NE region?
T #[41%579 2] QNG (TIPSR ST e

a) Hem Baruajes <=1 b) Debakanta Barya<<sis <<=
c) P A Sangméei @ siss d) B B Lyngdohi & fergeel

24. Who was known as “Desh Bandhyi <5 31 1< &1 217 2
a) Bankim Chandrafz 5« b)  R.N. Tagor&d 712 o154
c) C.R.Dagbese uri d)  Subhash Bogess 7%

25. Whois the Director of the musical contest “Chote Ustad” in Star Plus Channel—
819 215 (5eTeTe ‘(BIG TBM 3124w eifsciferera Hdm (i 2
a) Kunal Ganjwala= stig=iet b)  Pritami&resy
c) Shreya Ghosatmi carEeT d)  Gajendra Singhitsrz 12

English / &ar&t
Complete the following sentences by using suitable words from the given options :

26. ‘I aword.
a) am b) s c) have d)

27. Anempty vessel sounds

a) more b) most C) much d)
28. We to the station on foot.

a) Walked b) Went c) hadgone d)
29. Hethinks heis Newton.

a) the b) a C) noarticle needed d)

are

many

had walked

None of these

L]
L]

Contd.
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30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

Irfan Pathan isfast bowler. Here the word ‘fast’ is an

a) adverb b) adjective C) nhoun
A “box” is to boxes while “0x” is to

a) oxes b) oxen C) oxies
Anoop livesin interior village.

a a b) the c) an

The plural form of ‘Mr’ is

a) Mrs b) Messrs c) Monsierur
Disciplineis an part of life.

a) integrity b) integrated c) integral
Therhinois animal as big as an elephant.

a) an b) a c) the

He is the guest we have invited to the party.

a) who b)  which c) whom
Our teachers are on strike, so they are not duty
a) on b) n c) at
Mathematics an interesting subject.

a) are b) have c) s
Today is Sunday, tomorrow Monday

a) willbe b) would be c) s

If water freezes, it toice.

d) verb

d ox

d) Noarticle needed

d) Mesdames

d) None of these

d) Noarticle needed

d) whose

d to

d) have been

d) shallbe

d) turns

Donot come back until | wait here
Wait here until | come back.

My brother is going to school everyday
Everyday goes my brother to school.

K.K. Handique is a man of few words.
K.K. Handique is a man of much words.

A little money is better than none
Money is little better that none.

a) willturn b) canbeturned c) shallturn
From the given sentences pick up the correct one :
41. a) Waithere until | donot come back b)
c) Come back here until | wait ? d)
42. a) My brother goes to school everyday b)
c) Ismy brother going everyday to school d)
43. a) K.K.Handiqueisaman of little words. b)
c¢) K.K.Handique is a man of many a words d)
44. a) Little money is better that none b)
c) None s better than a little money d)
45. ‘VI'isthe Roman number of ‘English 6’. Then what is the Roman number of 66 ?

a) VIVI b) LX c) LXv
4

d) LXVi

O O O 0O o oddoo oo

O O O

[]

Contd.
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46. The boys never play at night, ?
a) donttheboys? b) dothey? c) don'tthey? dhever they ? |:|

47. Keep the clothesinthe
a) drawer b) cup-board c) wardrobe d)showcase |:|

Choose the “antonym” of the italicized words in the following sentences :

48. Heigroudof his linage
a) laughty b) Kind c) polite d) humble []

49. The crops grow well iiertile soil.
a) wet b) good C) manure d) barren

[]

50. The matter was ‘concealed’
a) hidden b) revealed C) supressed d) accepted |:|

General Mathematics/ sige aifre

51. a,b,care any three whole numbers. If the successaftof c) isx, then the successor b+ ac) is—
a, b, ¢ Rt fof61 ofef 512211 a(b +¢) 7 Bie 7124 x 2@ (ab+ac) 7 Pres ) T9—

a) x+1 b) x c) X d) g I:l

52. Asixdigit number of the form 535353, 797979 etc. is always divisible by—
25! S 910 720 (@6 535353, 79797897 T T (PG 7|1 Keren 29 2
a) 3 b) 7 o 1 d 13 []

53. Which of the following pairs can be the H.C.F. and L.C.M. respectively of two numbers?
O (IR TR HBI TR G SleNe@e AN eA[e@s R AN 2

a) 32,200 b) 14, 240

c) 12,240 d)  None of thegaiw «ble 7= |:|
54. Which of the following is not true?

ST (PN A 7= ?

a) [S+3[=15]+[3] b) [(=2)+8]=]-2|+8

0) 1(=3)+(-5)=1-3|+|-5] d) [0[=0 []

55. When a certain number is multiplied by 13, the product consists entirely of fives. The smallest such number is—
@51 1@ 1R271F 13 9[< FIRCET ST (T 5 DB A | IABIZSF H< Qe NG T
a) 41625 b) 42135 c) 42515 d) 42735 []

56. The additive inverse of- x — x° + x° is—
1-X= X2+ X° T g RIS 7 T'o7—

1
a) O by 1 ) ITxoir d x+x2-1-x° []

S Contd.
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57. Inatriangle, an exterior angle at a vertex is 100° and one of the interior opposite angles is 55°. What is the mea
the other interior opposite angle ?
@5l fagers @bl A e 2= IfRscelel 2751 10000 @bl Ro1Se Si@scaiel 2'e1 559 | S RivSs Sipecriem 19 83—
a) 155° b) 45° c) 55° d) 100°

58. Ifnis anatural number, th¢a1}" + (-1)"** = 2

n @bt el 7 ¥ET (-1 + (-1 =2
a) 0 by -1 o 1 d a+1 []
59. RimahasRs. 11 and 25 paise and Bima has Rs. 15.75. What is the ratio of their amounts?

T 11531 2551251 Sicg S I 15. 75600 10z | FiReq 47 Si=ire &'a—
a) 23 b) 43 ) 75 d) 57 []

60. Ifthe radius of a circle is increased by 3 times, then the diameter increases by—
@b J&I [PI% 3 @9l I FRET i [ o @ o 27 2

a) 3timeges b) 4timegs c) 6timege d) 8timegs []
61. IfRs.Pisdivided into two parts in the ratip then the two parts are—
PGl X1y S 1ol SRET Ol 1ol 13—
a) Rs. P , Rs.ﬂ b) Rs: P , Rs. Py
X+y X+y X+y X+y

C) RS.%, Rs Y d) RS.P+X, Rs.P+y |:|
Py X+y o x+y
62. Iftwo lines intersect each other, the angles formed without a common side are—
TOET (1R A1 I SR @Bl A11Rel T TP 210 @Il (hiel 71 &'
a) Obtuse anglggs el b)  Complementary angles= s el
c) Vertically opposite angl@geiSiof e d)  Supplementary angless << e |:|

63. Ifthe S.P. of 10 articles is the same as the C.P. of 11 articles, then which of the following is true?
1051 << Ry 1151 T e ST ' O (PICET 5y 2
a) Loss10% c=s=10% b) Gainl0%me10%
c) Noloss, no gailFbIN 777, sTes F=F d)  None of thes&3I «ble 723 |:|

64. Inwhattime will a sum of money double itself at 8% per annum simple interest?
8% 31T 3 (FIE e Jere P <2o g 27 2

a) 1lOyears b) 12years C) 12% years d) 15years |:|

65. The simplified value of + 2[a - z{a + z(a - m)} is—

a+2[a—2{a+2(a—?+2)}]ﬁ>ﬁﬁ?ﬁwia—
a) 7a-16 b) 1%+ 16 0 1m-16 d 7a+16 []

6 Contd.
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66. If QSisthe bisector diPQRand OPQS=73°, then(OPQR="?
OPQRT sWeias 2+ QS, JPQS=73° 2w OPQR="?

7P
a) 73° b) 107° ) — d) 146° []

67. INAABC, PAQ ||B_C as shown in the following figure. The valueg,gfandz are respectively.
fba® (€< W, AABC© PAQ||BCTE X, y WI® Z A G—

P A Q
0 YA
50 y
B ! 60° C
a) 50°, 70°, 60° b) 50°, 60°, 70° c) 700, 60°, 50° d) 50°50°60° [ ]

68. The difference between the squares of two consecutive odd integers is always divisible by—
B! @RI ST SIS HRI 5[ AN O (I I S froren 27—

a) 3 b) 6 0 7 d 8 []

69. One-fifth of a number exceeds one-seventh of the same by 10. The number is—
QBT SR G- TBIHNNP qp-9{2671<] 10 (@R =T LI B I—
a) 125 b) 150. c) 175 d) 200 []

70. Interms of percentage profit, which is the best transaction?
O] *OI<HS T (PINCE! SAGIES(F O (FTM 2
a) C.P.=Rs. 36, Profit = Rs. f#m = 3653, 7% = 175
b) C.P.=Rs. 50, Profit = Rs. Z&<wr = 506, &l = 245
c) C.P.=Rs. 40, Profit = Rs. I@m = 405%, =71 = 1960
d) C.P.=Rs. 60, Profit = Rs. Z8=mm = 605, & = 29531 []

71. The area of the following figure is—
e l< HaG CFazeT e—

2cm.
2cm.
4cm. 4cm.
4cm.
2cm.
2cm.
a) 40Cne b) 44Cni c)  48Cni d) 32Cnt []

72. (—3| Z+9Im +3m2) is greater tha|(12| 2 —5Im+8m2) by—
(~312 +9Im +3m?) <R (212 - 5lm +8m? ) et e S 2
a) —5/2+14lm+5m? b) 512 -14m+5m?
C) -5I2+14m-5m’ d)  —12+4m+11m []
7 Contd.
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73.

74.

75.

76.

77.

78.

79.

80.

81.

o Cax-1)_ ..
The value of satisfying the equation™—— = 21is—
7\4x-1
L) = 21>me=elch! ot (RIS X T W R
a 3 b) 4 c) -4

d) None of thes@aI= «ble 723

The largest number which divides 245 and 1029 leaving the remainder 5 in each case is—
HGI2S ©leT ST RGIE 245 10293 ©lol IRET T0R=F CFas SloIey 5 e—
a 5 b) 6 c 16 d 61

2
If Rs. 2800 i§ percent of the value of a house, the worth of the house is—

2
@b F99 T = eI =T 28006, TGN 7 TI—

a) Rs.800000 b) Rs. 980000 c) Rs. 1000000 d) Rs.1200000

General Science wigiee @

Drought is caused because of—

QR QR FR RoT—

a) DeforestatioR12s K b)  Afforestationgai=e

c) Lack of raifksze srer d)  None of thesez@<RT Qbis 7=

The colour of copper sulphate is

FAR QETRFLS I8 Qo —

a) Red<el b)  Brownish redpi<ea el
c) BlueSmt d) Black==1

The least count of an ordinary scale is
SR (R S Niof ToT—
a) 1lcm 1czfe b) 1ny1f c) 1mm 1fyess d) 1linch 13z

Which of the following gases is poisonous
ST (IO oy R 2

a) Carbon dioxider< ©ig =g b)  Carbon monoxide< s ssgs
c) Sulphur dioxidé&eTrs T2 2T d) Allof thesg=iviz@™

Lime water turns milky due to

AT SRS <9I RIS PR R —

a) Carbon dioxider<v ©ig =r<ge b)  Oxygerfsifsis

c) Nitrogen=es = d)  Wateyei=t

One light year equals to

G IETPIIT A Zo—

a) 9.46 x 10 km /fesfs b)  9.46 x 1@ km / fwfie

c) 9.46 x 1® yeay Iz d) None of thes@z@<s @bl 727

Contd.
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82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

The mercury in a barometer rises up because of
51 QEINGRE ST 2 @ SIQ PR 2o

a) Gravitysige®a b))  Temperatur€=es c)  Pressurgsi d) \olumesmrsy
Weight of a body is

@bT T ST~

a) Always constarv® &% b)  Not constarit<s =7

c) Equal to mags<< = d) Independent of massE *{1 Y&
Protein is synthesised in which of the following ?

O] (TS & o TEfTe =7 2

a) Cytoplasn o< b) Ribosomenzz e

c) Nucleugsz % d)  Mitochondrigsas s

Which one of the following is not a function of proteins ?

ST (P! ifoma I 72 2

a) Repair of body cellsas 279 o1 b)  Transporbif<<=e
c) GrowthJf d) Energyife

Disease of bone and teeth are caused due to the deficiency of
12 (TR SIS WS HF ZTF ([N JT ?

a) Calcium@z™ b) Phosphoruszs=z c)  Iron/T d)
A water soluble vitamin is

SATS TS (R afy febifm 2'e1—

a) Vitamin AfSIRE-A b)  Vitamin Dfesfs=-D

c) Vitamin BfbR-E d) Vitamin Bf5f=-B
Which of the following is made up of amino acids ?

TR FIC! GfET @fges ae oifes 2

a) FatgR b)  Proteingr o

c) Carbohydrates<zzsb d) Vitaminsfeafe

An advantage of synthetic fibres is

femfoe wEaRe @bl sffRa 2e1-

a) They dry-up more quick{pre GTRIE &3

b) They do not dry rapidfffiEe Gl TeR

c) They are attacked by moths and mo(fes $fb-ces @R 72 723
d) They are comfortable for sumnfegs s e STmRE

The stages of growth in a butterfly are respectively
/T I berei 2eT—

a) Eggs—Pupae-Larvae—AdyHES-Fresii-si-spfel
b) Eggs—Larvae—Pupae—AduftS-of->resi-spfsl
c) Larvae—Eggs—Pupae—Aduttg-l-resi-spfiel
d) None of thes@z@<x @bl 727

Which part of a flower turns into a fruit ?

T (I S Tel(eT IR =7 2
a) Sepalgfs b) Petalgifz c) Stamerr d)

9

lodine/smiey

Ovarysemz

Contd.
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92.

93.

94.

95.

96.

97.

98.

99.

100.

Micron is a small unit of length. 1 micron equals to
T2 2o (M @B I G | 1 N2@wq FF 2o
a) 105m/ 105f& b) 10°m/ 10fx ¢ 10°m/10%f  d) None of theseie wza [ |

Which of the following is used to make a permanent magnet ?
I HHE IR O (FICE] IR 2 2
a) Steefd b) Iron c)  Nickelfes d) Brasgre []

The formation of eclipses is based on the principle of formation of
5 9%°l 1 3T 2179 G (I 51979 8Os 6T G 2
a) Shadovi& b)  Point sourc&™ $esic)  Medium i d) None of these@brs 7=3 |:|

The element ‘Radium’ was discovered by

QG (0! (PIET iR fafeeT 2

a) Joseph Priestlggiez e b)  Dr. Har Gobind Khuran@ae &3 colifis cr=i=1

c) Marie Curigare aiR iR c) C.V.Ramarbfe s []

The constituent elements of ‘Glucose’ are

CoPEnS P! (T 2ol —

a) Calcium, Carbon, OxygéreTRIs, R, SIS

b) Carbon, Hydrogen, Oxyg&eRe. 23S, SIfHem

c) Sodium, Carbon, OxygeieIs, S, S

d) Carbon, Oxygen, Chlorife<, s, R []

Sedimentation is the process of

SRCF 2iferd 77e1—

a) Removing sand from sugar= i<1 qifet o< i

b) Mixing sand in a substane®iore i a2 fr

c) Allowing sand to mix in liquigissere et e <1

d) Allowing the immiscible impurities to settle down to botfers%&iT @t &l 2'<e il |:|

An example of endothermic change is

O (IR Rz Swizae T —

a) Dissolving of lime in watesi<ie pi adige i

b) Dissolving of chlorine in watgstiare s << rdtge <=

c) Dissolving of ammonium chloride in watefTs Q== 512G kg <1

d) Boiling of watefeia ST |:|

Water and mineral salts absorbed by root from the soil is conducted upward by
STgq TRio(18 FIfbx >0 i1 @ Wfer #/el 2iee aife ey @ SEels 27 2

a) Phloenes b) Xylenvengew

c) Special tissu@med =T d)  None of thes@gx= @bl 727 |:|
The presence of Maganesium Chloride in water contributes to
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a) Temporary hardneSsast el b)  Permanent hardnesd e

c) Softness of watéx FeTel d)  None of thes@gx<< @bl 727 |:|
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